@ 5 g % é Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuacio:
6,501 x 1000000 = 10, 497 x 100 =
3,118 x 1000 = 5,662 % 10 =
7,089 x 100 = 4,674 x 10000 =
6,242 x 100 = 2,373 % 100 =
6, 564 x 1000000 = 10, 507 x 10 =
4,784 x 1000000 = 5,64 % 10 =
10, 16 x 1000000 = 4,421 x 10 =
9,542 x 100000 = 1,411 x 10 =
1, 144 x 1000000 = 5,47 x 1000000 =
6,031 x 10000 = 5,299 x 100000 =
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Multiplique decimais por poténcias de dez

Nome:

6, 501 x 1000000 = 6501000

3,118 x 1000 = 3118

7,089 x 100 = 708.9

6,242 x 100 = 624.2

6, 564 x 1000000 = 6564000

4,784 x 1000000 = 4784000

10, 16 x 1000000 = 10160000

9, 542 x 100000 = 954200

1, 144 x 1000000 = 1144000

6,031 x 10000 = 60310

Encontro: Data: Pontuacao:

10,497 x 100 = 1049.7

5,602 x 10 = 56.62

4,674 x 10000 = 46740

2,373 x 100 =237.3

10,507 x 10 = 105.07

5,64 x10=564

4,421 x 10 =44.21

1,411 x 10 = 14.11

5,47 x 1000000 = 5470000

5,299 x 100000 = 529900
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